PARTS LIST

iTEm] Q1Y [ PART NO. PART DESCRIPTION LENGTH | UNITWT. | NETWT.
1 | 1 | x-PESF-206 6" PIPE EXTENSION SINGLE FLANGE 4.26 4.26
2 | 6 G3802 3/8" x 2" HDG HEX BOLT GR5 0.09 0.53
3 | 12 | GssFrw 3/8" HDG USS FLATWASHER 0.01 0.14
4 | 6 G38LW 3/8" HDG LOCKWASHER 0.01 0.04
5 | 6 | G3sNUT 3/8" HDG HEAVY 2H HEX NUT 0.03 0.20
TOTAL WT. # 517
DETAIL A
TOLERANCE NOTES DESCRIPTION e ¥
TOLERANCES ON DIMENSIONS, UNLESS OTHERWISE NOTED ARE: 2-3/8" X 6 % 1 Engineering  fecn® S
SAWED, SHEARED AND GAS CUT EDGES (# 0.030") SINGLE FLANGE SupportTeam: g0 1N
DRILLED AND GAS CUT HOLES (£ 0.030") - NO CONING OF HOLES PIPE EXTENSION . 1-888-753-7446  salem, OR
LASER CUT EDGES AND HOLES ( 0.070") - NO CONING OF HOLES A valmont Y covey Ea iy
BENDS AND ANGLES ARE t 1/2 DEGREE .
ALL OTHER MACHINING #0,030'? CPD NO. DRAWN BY ENG. APPROVAL PART NO. N
ALL OTHER ASSEMBLY (£ 0.060") CEK 10/22/2019 PESF-206 oz
:"Rgmammﬁ INTHIS DRAWING VALMONT CLASS| SUB | DRAWING USAGE CHECKED BY DWG. NO. m %
-
NDUSTRIES AND CONSIDERED A TRADE SECRET. o | 81|01 CUSTOMER BMC 10/22/2019 PESF-206




